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1. Which of the following network topologies require using terminators to stop
the signal from bouncing?

A. Bus.

B. Star.

C. Ring.

D. Star bus.

AT RIS S R, T HUEEAP R 4% Hh 45 by K A R 2 FRLERL?
A RET.

B. &,

C. #E,

D. ERREZ.
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B Z T U B &R Fh SR, X R A B FAUN S B T 2 BB I T R X F
AR -G EIF M &M GEROYET) EEEk, B RARBE —&HEN
FIAER. BREUENEEAFERE, ZERSEBRME LEE, WUREREIFN R
&g HfE (terminator), NULfE BBk B &% umiy, ERBELER DT RMEE, B
Bk S —&fa, ExfELk, MEKIEREAMRK T EITEERER, XNARKRAES
¥,

NTBEREFET B, BAOLAENLE A L& E LR mHE, DESE
BEGEHBE, B8RRI M ERANEE B0, Bt BB e fs BAkEEfEM 2k 1%
%,

BRGNS RAA hub EE, ATRELRBHE: FRHLEHAFREMBTIFER
I, EE S LSBT E R H 2 TES IR R hub DL 7 RIERE R, H
TEBRZFA hub FH, UGN HELREE.
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«  Networking Essentials, Unit 1: Networking Orientation, Lesson 3: Network Design



2. What is the maximum cable segment length for thinnet Ethernet?

A. 100 meters.

B. 185 meters.

C. 285 meters.

D. 500 meters.

ALK — PR ERLRIBRAKERE D2
A. 100 K.

B. 185 K.

C.285 XK.

D. 500 >.

000

000
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AR P& R M8 B Be 8 S 1 I B R AR 4R K B

« 10Base2 (4045): ©REH coaxial cable (FEHIHELS), B—BHEKERKY 185
K FUEZRNB), RNBHEHHENZEFLRKEA LT 05 X,

* 10Base5 CHHZ): ‘&K coaxial cable (A L), —EBHRKERKN 500 X.
HEH ST AR HPYBRKERN S0 K. WRBEBURBRZ RIMBEEREN 2.5 XK.

* 10BaseT (WKL): BERFANKL, & ITHENS hub ZEIKSKEEZE A 100 k.

VX155 4
o  Networking Essentials, Unit 2: Connecting Network Components, Lesson 4: Network Cabling
—the Physical Media

o  Networking Essentials, Unit 4: Network Architectures, Lesson 12: Ethernet

W

Which of the following statements describing a linear bus topology are
correct?

A. It is the simple and reliable.

B. It is an active topology.

C. It is easy to troubleshoot than star topology.

D. The number of the computers on the network does not affect performance.

O0O00Oo0o0o

E. It needs less cabling than other topologies.
TR R T BB I S S R IE R
A. ERIBITEE,

B. ‘BRI,

C. ‘BHERI ML G5HI A 52 Wi .

D. HM& BRI BE S BwEM L HtEbe.
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O E. HbHAhRIPILEIn IR T MLk .
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BB (XN bus) HEHAMNSKEEE—GIHEIAM &ML GERAIET)
EEER, ERARHENMNERR S HRFAMIT, mHEBRE— I TEAMNLE, H
HERE A RIEHH.

HEAMKME RIS ELEGESR, BRI EAHREEENENEH, HNLER E
RIEHR .

(R WRMRIETEN T M, WA PEEKWTE, L — &SP R geas a
HetE, LB Mg S AR EAUERE . G TMEEITN, Brd Bt SHLER & X M4 H
Thet, A GIRBIMEGHRBR T . MEREHKME, 6 EVEH LB M
285 hub 1B MERIIEGTHEINMEL R LSRN, AR B i HHaiEeT,
FULIR A S e FBTAE, FTEAER C RHIRM.

BEBIRMEHRIMEG, —KAREE -G EIRRER, ELEy—&Eh
FEAGAME R, HARRTH BN AER . AWM BB HBE K, SR E R
€, BIMMBHIBERNBE, FILER D RN,

BERRIERRME R passive (BEIA) MEAR, BREME LB &1+
FLASHEMM S LAEREE, HANTTHAZRERINERIAH L, BIEE B %R
Wio S35 FFTIB acive (EBHFO BN, BRE -SHEVEREIERE, SEEk
FERESER, REHREHE.

F2% 44 4
e  Networking Essentials, Unit 1: Networking Orientation, Lesson 3: Network Design

4. Your company consists of three networks that are located in three different
buildings. The longest distance between any of the two buildings is 1000
meters. You are responsible for designing a backbone network to connect
these three networks. Which type of cable media should you use?

A. category 3 UTP.
B. category 5 UTP.
C.RG-58 /AU.
D. Fiber-optic.

0000

E. Spread spectrum radio (SSR).

BRTH 3 MNBRGE M 3 D ARKEND, BRI EKERR 1000 X, FE
RN TR — DT PSR 3 MG ISR kK. 18 N SRR A TR e g2

Q A.3KUTP.

O B.53UTP.



O C.RG-58/AU.
Q D. X4t
O E. & (SSR).

VExdD

V@b 4

A RN E B 3 AN, B RIET 3 DR, S0 A PR B &K A 1000
K, WREEIEIX 3 MREERE, WICRAW—MREIF H KL BT

* 3/5 25 UTP: UTP (unshielded twisted pair, JTCHERCNEL:) & 10BaseT M 4% 5T 1d
FIM AL, SERRF RIS bR BIEAE 20 1 2831 5 385 5 s, Hob 3 B LR
AL N 10 Mb/s, T 5 KFTEE® LR B =KL /7 100Mb/s. 10BaseT MK —&i+HH
BLE] hub 2 [w] )R 8 & KK R 100 K.

* RG-58/AU: RG-58/AU M #4045 (10Base2) MFTHMIFHBLs, 8 —MNETRE
e SRR BR B KON 185 K.

* Fiber-optic: Fiber-optic (Jt4) ML XFAIRKERR 2 K, EEWIX
100 Mb/s BL L

UL, ABRE RN D, EARBHADLARIMNEG (FDDD A Re# 3 H#id 1000
KEIFE .

V&% ik 4
e  Networking Essentials, Unit 2: Connecting Network Components, Lesson 4: Network Cabling
—the Physical Media

5. Situation: Your company is located at Taipei, and has two branch offices in
Beijing and Hong Kong. Each of the three offices has a 10BaseT network.
You want to implement a WAN to connect these three networks.

Required result:

All of the computers on each of location must be able to communicate with
any other computers on the network.

The WAN links must be able to support at least 1 Mb/s transmission rate.
Optional desired results:

The WAN needs to be able to continue communication even if one of the
links fails.

The WAN needs to be able to continue communication at a minimum speed of
1 Mb/s even if one of the links fails

Proposed solution: Use a 16-port RAS server at each location to connect
these networks as shown in the following figure. Each port will have a 33.6
Kb/s modem.



e

Taipei

. 3.6Kb/s (16 lines)
33.6Kb/s (16 lines

A e

Beijing HongKong

QO A. The proposed solution produces the required result and produces both of the optional
desired results.
Q B. The proposed solution produces the required result and produces only one of the optional
desired results.
QO C. The proposed solution produces the required result but does not produce any of the optional
desired results.
QO D. The proposed solution does not produce the required result.
BR: RadfiTadl, lENEEEHA3E. 3 MBI HE—1 10BaseT W%,
TEAEE T WAN £ 3 Mg HEE R .
EXRMGER: B LR EHEILARSMS EREM BV TES. WAN 2570
SCFEFE/D 1 Mb/s iR E . ,
ALERYEER: 2 WAN (3 —AbEHRME,, MiZBA4LRENRES. X WAN M
AbERRME, NWiZREREBRERGES, HAREERDILT IMb/s.
BWMAR: &8 RA—1 16 1 RAS REBERERENMNE, EEMHORS
A~ 33.6Kb/s K9 IR LS .
A, BT BB R G R SR
B. BRI T AR E K4 R AME b —FhanE R S R .
C. BUHITREHEERNEAR, BARHLE—NTENER.
D. BT ENREHLERMGRE.

00O

FEzdD

V T 4
AR RFAESIE, RS EE 3 WEE AN, HEEEERT WAN SO 3
TRSHERRK, WREXHTEINTR, RETIHSERNE RS TiEmg 28 i
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#EWPES b SR ZE R 16 £EE K 33.6Kb/s KIS ER, malts&HE
ZIEAFIH 16 24 33.6 Kb/s MG RSN GERE, SARATLHLLX 3 MME 2 AAH 8
5, w2 LLf L EZRpME— g, HEXLE 33.6 Kb/s BEMEFLEIEENZ A
%4 IMb/s (EEFE, RILTCEH LS AN EK,

L LAl En, B A REIER L ERWERB A 1, MNEERED.

Vi i 4
o  Networking Essentials, Unit 7: Larger Networks, Lesson 25: Creating Larger Networks

6. You are responsible for installing a new network. The capacity of the
network will up to 100 Mb/s. If you are under a tight budget, which type
of media should you use? |

A. category 1 UTP.

B. category 5 UTP.

C. RG-58 A/U.

D. Fiber-optic.

BT B AT ZEe— 100 Mb/s fIFTIN%, ELBARMIEIT, SR
— T 2 EL AL W ?

Q A.1(UTP.

Q B.53UTP.

Q C.RG-58 A/U.

O D. k4.

00O

VFZs 4B

Vit 4

BEEPHE B 15 2K UTP 5% D K fiber-optic (&4F) AL FE] 100 Mb/s,
FHAAFHMERHG S, T 5 KK 10BaseT MK HRAME. SEE HLHBAM, MV
BE5E B,

EERAMN IR UTP ERTHIGLR, HREARMGESSH, % CH RG-S8 AU N
10Base2 WYL FTAl RO 88045, B th R AR 353 10 Mbrs.

ETT TV
«  Networking Essentials, Unit 2: Connecting Network Components, Lesson 4: Network Cabling
—the Physical Media
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Which of the following network standards is referred to as Standard
Ethernet?

A. 10Base2.

B. 10BaseS5.

C. 10BaseT.

D. 10BaseFL.

VIR R S AR HE RIS T LUK R K7
A. 10Base2.

B. 10Base5.

C. 10BaseT.

D. 10BaseFL.

©C0O0CO0

Q00O

V4B

Vit 4

LAF Ut B & AP Rl R 28 (1 E 2 = 57

* 10Base2 (Thinnet, Z%5): E&FH coaxial cable ([FHIHL), F—PMMEHRK
RN 185 K, FEMEHHENZEAKERTLUNTF 05 K. HZFFHHEE S 10 Mbrs.

* 10Base5 (Thicknet, ¥HZ5): =R F A coaxial cable ([F&hA%), F—4P MBI LK
EEACA 500 K. HEV SRR BHBRKERR 50 X. WARZRABEHEERN 2.5
K. BT ERBRFHIMPILIARS:, Ftths#RARAELARN .. H X EFHE R H 10 Mb/s.

* 10BaseT (Twisted-pair, AL ): ERXRANL L, BEHHEVE b ZERKH
PREIN 100 K. HICRFHIEEL A 10 Mb/s.

* 10BaseFL: ERRMMAIEAILUAN, TR N 10 Mb/s, STHNKERK N 2 2
H,

VX5 4
»  Networking Essentials, Unit 2: Connecting Network Components, Lesson 4: Network Cabling
—the Physical Media

8. You are installing a 486-based client computer in the network. The client
computer has 32 MB of RAM, a SCSI adapter for a CD-ROM drive and a
hard disk. After you install a new Ethernet network adapter card in the
computer, the computer will not boot from the hard disk. However, when
you remove the network adapter card from the computer and the computer
boot normally. What is the most likely cause of the problem?

O A Bus type conflict between the SCSI adapter and the network adapter.
QO  B. Upper memory block conflict between the SCSI adapter and the network adapter.



Q C. EMM386 conflict between the SCSI adapter and the network adapter.
QO  D.IRQ setting conflict between the SCSI adapter and the network adapter.

AR S L2k —A 486 B/ HL. B 32 MB NAF, —4 SCST&ERL 2 ) CD-ROM
WEhas M — MBS, BELE T R URMRE, HEYLCENER RS . EREEM
TiRkERE, WEHNIXALAES BT . 18 %8 8T A R R 2 A2
Q  A.SCSIEALER B MR IE AL 25 198 R A b5
O  B. SCSTIERACAE5 M AIEAC A HI & A7 (UMB) M5,

Q  C. SCSILIEFL#s5 MLR AL S 1 EMM386 Jh5E.
QO D. SCSIIEALHES 5 M4 E AL A5 1P T i B o 52

VFxxd4B

4 ﬁﬁﬁA

5 A M EERMHM R R IR . B, 8 SCSI KR REHRAR PCI,
%E’Jﬁﬁz;%%'éit_m ISA, WHAZEREERNNEE, Fh— ﬂ’iﬁ%ﬂ%ﬁ“s‘z%ﬁﬁﬁ&éﬁ,
Bilin EIARY ISA 5 PCL. BIEHEHL R S0 # PCI, N ISA BN B A TE L3S EHL A,
B E L EFX—BET .,

Friff] UMB Z/-T 640KB % IMB 2 [A] {1756 s2 i, &1 2B 2 B &t fE S
F LB S HY X B it HE A 89— 3890 R 444 B N2 X Cinput/output buffer), j;%i—“l
fERMKHIS] 5 ROM FEhhl, {2 A fsh g (Fltn SCSI & LEH BIOS) L {F i
soptbht, MR EA B EEEENGT S SCST RAHMERRIM A E, MWRESETTEE
HisqT. B, WRFRGRMA SCSI M K5, WE KRGS SCSI BIOS Fitt i
aRitit 5 R RIAE, Bk SCSI BIOS #LiE T (AR A B IERME SCSI BIOS #2
F#), BrCLiH AR EIE RS, FRUAA %N B.

FE C MUEHEEIRN, EMM386 ZFREH UMB R, 394 FTiEH SCSI £
%IW%E’J EMM386 AH 58 X F i .

SIENIAMAMNE (Bl SCSI &, M. BFE%), N TESHEN RS,
%‘BAEH%@JF)ME’W%@:R (IRQ) 5 VO Hetik, Fibixsesp A ar Ll A AEE Y IRQ 2 VO,
FMEAT “FIRE” HEIEW LI, AftAS “TI6” AR “—x2” TikEBETRY 244
R, MBER R SCSI s, SCSI REREEMEH T IRQ 11, HAHEMN-E2E3i- 2,
HAFRZEMWFWNETF, IRQ 11 MAREEFER SCSI BIOS WRIFEE, HEibixafite
PLERATLUERE TN, B, #H28hTHERSHERF, Mi-EhaEANERSARFES, &
GRMLERERRNT, BN IRQ 1 RSSO N IR EHMEA, TABL SCSI
BIOS WHIFRS, DRI Jo ik BHE I E] SCSI A RIS AT,

# & SCSI £ IRQ 5M i IRQ #IMHR, RESHWIFHIEEE b T RS
(HRBZET NREHRT), RERTERD, BTN EEDRFEREEA (HFD
LR AN, R BREE “B5h” BRTIERD, SR TS A
FIRIKENRRF), IRQ 11 MRS FEFFHIE R SCSI K40 BIOS, K41 M -k IRz o /s 2,
BT RS VE R SR R R 4R B R IRQ b, #E % D B4R H.

-8.
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9. You install an Ethernet network adapter card in your computer. The network
software is initialized properly, but your computer is not able to communicate
with others on the network. All other client computers on the network are
able to communicate with each other. What is the most likely cause of the
problem?

A. The I/O port address on the network adapter card is incorrect.
B. The transceiver setting is incorrect.
C. The cable segment is not properly terminated.

00O

D. The packet size setting is incorrect.

BRBT —HRUKMMRET A . MERE T LUERIGK, EREKNTEIAR
BRI % FROHARH SNBSS, M LT AR PR EAEE . S B0 R BT
(R R At A2

A. PR VO Ul A,

B. WA BB EART .

C. WL LB B e X am i

D. BIEBHIRADEERI

COOQOO&E&SR

Vi< 4B

Vi A

A HEEPTEILES R V@GS, Rl 8z aaaEaes
A, ORISR RIRY: (e MREER B, XIRRMAREEREIR? AT
W

ﬁu%mlﬁpﬁl%é’] VO WEHRFTERN, WKW ERAREINZEEEE, FALEER A

W,

LJ 10Base2 P& A5, aniR 2R A ML % IE i E24 0B (terminated), W%
i Bt BVl A LEE, SER C B/EN.

EBHWR M B R A TR, HlnE BN ERINTE RI-45 5 BNC Bk,

ARG ERZ 10BaseT W4%, WEERFF RI45 #3408 ML, [EREHEN-ERERE

it BNC Bk R, WMAR RI45 FE, BHNNFERGEBNNIIREE, NESSBIT
W), WA ITES M Fr AR EYLELS.

VXL 4
»  Networking Essentials, Unit 2: Connecting Network Components, Lesson 6: Network Adapter
Cards



10. Which layers of the OSI model are managed by Microsoft NetBEUI?

A. Application.
B. Session.

C. Transport.
D. Network.

E. Physical.
Microsoft NetBEUI & ¥ OSI 52! ) Hf L2 2
A NHE.
B. &iF)E.
C. feh)z.
D. P
E. YHEZ.

Ooo0oOooao

OooO0oOao

PEXAddCD
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Microsoft NetBEUI &R AEH B — A EE T B4 % E NetBIOS §BEH~#10,
CHESTHE 20 £ 200 6 HHEHK /DRI KM H. NetBEUI 5 NetBIOS B RAIEH &
FHIE—RIEIT, BEMAR —MEGHIN, FREREN R NetBIOS MirHik, L
AR R R MY (Fl4n TCPAP) A LI #F NetBIOS.

Microsoft NetBEUI £ [FIi 7E &4 /2 5 M4 2 1247 B A5 il

& =Rt ¥

e Networking Essentials, Unit 3: How a Network Functions, Lesson 7: The OSI and 802
Networking Models

Networking Essentials, Unit 3: How a Network Functions, Lesson 10: Protocols

. What is the characteristic of a client/server network?

[
[—

A. Client computers access a server that performs back-end services,
B. Client computers are connected to a central server computer that perform all processing.
C. Any computer can make its resources available to any other computer on the network.

© 000

D. Any computer on the network can be both a client and a server.
IR P AR S R S BARE?

A, ZPHTRAT G B RS RUIR G A -

B. &P HEER — M AT E LB P Rk &4 L

C. HE—5PUaE N B LR HAR T LR B SR,

D. W_ERME— it EAEEERL R E P IR RS 25

©C 00O
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